. . - - ﬂ . '

Americnn Telephons and Telegraph Company

BELL SYSTEM PRACTICES SECTION P35.908
Teletypewriter and Manual Issue B, 11-15-51
Telegraph Station and PEX Long Lines Department
Installation and Mainténance Dist. Class. 602.01AC

TRANSMITTER DISTRIBUTOR
NO, 1k STATION TYPE

PORTABLE AND REMOTE CONTROL ARRANGEMENTS

1. GENERAL
1.00 This issue supsrsedes Issue A,

1.0i This section furnishes connection plans and informatioa

for modifying No. 1k type transmitter-distributors to
pernit the customer to move this unit at will from one
nperating location to another.

1.02 This section also provides connsction plans and modifi-

cation informmtion which will permit transmitter-
distributors to be controlled from auxiliary contacts on a
No. 1k teletypewriter.

Note: lthough only the base required modification, the
base and transmitter-distributor should be treated as
a unit vhen moved from one location to ancther.

1.03 This section is reissued to include the PM Plans con-
*ained in Part kL,

2. MODIFICATIONS
Fortable Onl;_'

2.01 The modifications required to make a No. 1k station type

transmitter-distributor portable are shown in Fig. 3
vhich is reproduced from American Telephone and Telegraph
Company Long Lines Department Drawing S-8126-143, and consist
of the addition of the following items to the TP T7598 mounting
plate.

TRANS. DISTRIB.

NO. 14 STATION TYFPE

P35.908 PORTABLE AND REMOIE
Page 1 COONTROL ARRANGEMENTS




Pwge 2

TF 35503 rubber feet
TP 1269 screws

TP 12-24L vashers

TP 3598 nuts

EoDEE
i ]

2.02 The foregoing parts should be installed on the mounting
plate as shown in Figure 3 and as described in the

following.

() Remove the four TP 33-206 screws and TP 5566 collars
from the mounting plate and replace with the rubber
feat,

Note: Care should be taken in mounting these rubber feet
that there will be a washer directly between the screw
heads and the rubber feet and also between the nut and
the mounting plate. In case the screws project through
the nuts it may be necessary to flle off the projecting
portions so that they will not interfere with the re-
moval or replacement of the TF 77077 base.

Remote Control Feature

2.03 The modifications required to provide the remote

control feature to a portable No. lb transmitter-
distributor are shown in Figs. 1, 2 and 3 which are re-
produced from American Telephone and Telegraph Company Long
Lines Departmeat Drawing S-8126-143 and consist of the
addition of the following items to the TP T7599 mounting
plate.

1 - No. 80 type jack mounting modified in mccordance
wvith Figure 1.

No. 218-A Jack

No. 8-32 x 7/8 machine screw

1
1
l - TF T1115 screw
1 - TP 552u6 aut

2.04 The foregoing parts should be installed on the mounting
plate as shovn in Figures 2 and 3 and as described in

the following.

(a) Mount the 218-pA jack in the modified jack mounting.




. . ) N ' '

(b) Remove the TP T762% guard.

(¢) Drill a hole for a 6-32 screv in the mounting plate
as shown in Figure 3.

(4) Remove and discard the right TP 1093 screv and
TP 3646 washer holding the right emd of the TP 7398
contact screw plate in place.

(¢) Mount the modified jack mounting on the rear right of
the mounting plate as viewed from the front and secure

it in place by means of the 8-32 x 7/8 inch machine screw
and the TP T1ll5 screw and TP 55245 nut in the screw holes
made available under Paragraphs (c) and (d), as shown in

Figure 2,

(f) Replace the TP T7625 guard after connections
desoribed in Part 3 of this Section have been made.

3. WIRING CONNECTIONS

3.01 For line and power connections to the modified trans-
mitter-distributor refer to Plans PM9.01, PM9.02,
PM9.0k and PM9.0% covered in Part L of this Bection.

3.02 For connsctions to the No. 1k teletypswriter associated
with the modified transmitter-distributor refer to

Plan PM9.03 covered in Part b of the Section.

TRANS. DISTRIRB,

N0, 14 STATION TYFPE

P35.908 PORTABLE AND REMOTE
Page 3 CONTROL ARRANGEMENTS




Page L

T
J@W
Drill for B-32 Screw-~ r . - AL A
}"1- IE in. -
:_'_'_'__'.E'.'\,.F :
Q E“?LIE in
o Dnll & Countersink
i 22 I for &6 32 Screw
Cut away © =7/Bin= 1/4 n A i B0 Type Jack Mounting
.
FiG .218-A Jack
8-32 x 7/8 in. Screw-. ’
LR ‘ / 77625 Guard
= B T : = x
._t;!r.r_ .- 71115 = Screw
Connector — —ﬂ_ﬁ.“‘\ @ LT‘ 6-32x1 1/4 in
Mounting =
P 1 @: .-h —--80 Type
R N— /:_. .| L‘tjfh Jack Mounting
Existing Hole _..-”x FIG 2 b ~Dnill for 6-32 Screw
1 - 35503 - Rubber Foot | IID”” far 55246 - Nut
1-1269 - GScrew Yoo | 6-32 Screw (Required only for remote
_1? . égggdd wNu':'nrag.her R T - 23{;32 . control)
e “:'57 T 3
| ® & o : Under Surface
of Transmitter
| - Distributor
| Maunting
! (@ (@ | Plate
: oy

| 4 Existing Holes
FIG. 3




. . ks = . '

k. CONNECTION PLANS

k.01 Folloving are the connection plans (PM Plans) showing

power coanections for remote controlled No, 14 trans-
mitter-distributors (portable and mon-portable), and the power
connection plans for No. li teletypewriters used with port-
able: No. 14 transmitter-distributor.

Conneclors on Connectors o

Trans. - Dnst. Mtg. Plate Trans. - Dist Mitg. Plate
- —— ——e e —— = maam, ——— — ..
Ejlfﬂ[%][I]IEQ[EQ[E]I%JE;} E:]EE[EUIEE[E][E]E:]I![EJ
l LII]?““" —-l;p-n;-:u‘
mzcN | Jack dack
Cora M2DG Cord M2DG Cords
T T 2n 6 121°in.)
M2ZCN @©
® Coed
‘L = Hubbell ‘L Hubbell
" Plug 7092 Plug 7055
221 221
Piug To DC. Plug To AC. Te DC.
iTo Loop) (Ta Loop) Hubbell
PM 9.01 ® For Plug PM 9.02 Plug 7092 ® For Plug
From Control From Control
Contacts Contacts
oW 8] Me. I8 Trasas . -Diat., -
Moy ® ] L} B.-D1Ey. =
Partable trt - 110- Dt BT et bt
Fortabls %ev - 110-V 2.8,
TTY Terms
] 2 s :
- TP78385 23] O YRR ETY
Contacts .
on TTY | See Applopiate
P e Pyieer @i Line
Connection Plan
M2DG Cord
or Equivalent
AT-A Plug
(Red) H[
To Trans.. Dist
Pl 903

FR 9.0} Me. 1% TTY - Commection For wee with Memcle
Comtrolled Fortable Trume . -Dist. [3es
PR G.u) and PS5, %5.

TR\NS. DISTRIB.

NO. 14 STATION TYPE

P15.908 PORTABLE AND REMOTE
Page 5 CONTROL ARRANGEMENTS




Conmectors on
Trans -Dist. Mig. Plate

FrEaa Lt e T o =, .

r

M2DG Cords
12ft Bin. )

Hubbell
Plug 7092 @— L

Controd
Ta DC.
0 DC Contacts

P 904
.08 No. 1§ Trans . -Dist. =
Femote Cchtrol eof

ctatlon 3at - 110-% B.C.

Connectors on
Trans - Disl Mig. Plate

G e e —— ——

EIERE]@EF

e

M20G Cords
(21t 6in.)

Hubbell
Plug 7092 e
To AC. Control
Hubbell  Contacts
Plug 7055

FH §.0% Mo. 1% Trans.-Tet. -
Remate Control of
Svation 3et - 110-¥ &.C




